Sample TCP Client

#incl ude <stdio.h>
#include <stdlib. h>
#include <ctype. h>
#incl ude <sys/time. h>
#incl ude <uni std. h>
#include <fentl.h>
#incl ude <sys/types. h>
#incl ude <sys/stat. h>
#incl ude <sys socket . h>
#incl ude <netinet/in. h>
#incl ude <ar pal i net. h>
#incl ude <sys types. h>

#def i ne SERV_ADR " 192. 168.0. 2
#def i ne SERV_PORT 7777
«

struct sockaddr_in serv_sock_addr
int socket_fd;

bzero((char *) &serv_sock_addr, si zeof (serv_sock_addr))
serv_sock_addr. sin_fam |y = AF_INET;

serv_sock_addr . sin_addr . s_addr = i net_addr (SERV_ADDR) ;
serv_sock_addr. sin_port = ht ons( SERV_PORT)

it ((socket_fd = socket (AF_I NET, SOOK_STREAM 0)) < 0)
exit(1)

if_(connect (socket _fd, (struct sockaddr *) &serv_sock_addr,
si zeof (serv_sock addr)) < 0) exit(1)

read(socket_fd,
process(.):
weite(socket_fd, )
cl ose( socket_fd)

)

Sample TCP Server

#include <stdio.h>

#incl ude <sys/types. h>

#defi ne SERV_ADOR * 192. 168. 0. 2°
#defi ne SERV_PORT 7777
¢

struct sockaddr_in serv_sock_addr, client_sock_addr
int cli_addrlen, socker fd, sockel_fd2

i1 ((socket _d = socket (AF_I NET, SOK_STREAM 0)) < 0)
exit(1)

bzerof(char *) aserv_sock_addr, si zeof (serv_sock_addr))
serv_sock_addr. sin_fam |y = AFINET,
serv_sock_addr . si n_addr. s_addr = ht onl (1 NADDR

sock_ ANy
serv_sock_addr. sin_port = htons((short)port _nunber)

i1 (bind(socket fd, (struct sockaddr *) &serv_sock_addr,
<1260l (serv_sock_addr)) < 0) exi(1)

i sten(socket {4,
cli _addrlen = si zeof (¢l i eni _sock_addr)
wile (1)

Tent_sock_addr &l i -addrl en)
i1 (socket {62 < 0) exit(1)

read(socket (a2, ..)

process(.)

wite(socket_d2 )

ol ose( socker (d2)

socket_d2 = accept (socket fd, (struct sockaddr *)
e |

)
el ose(socket_fd)

Sample UDP Client/Server

#incl ude <stdio. h>
#include <stdlib. h>
#incl ude <ctype. h>
#incl ude <systime. h>
#incl ude <uni std. h>
#include <fentl.h>
#incl ude <sys/types. h>
#incl ude <sys/stat. h>
#incl ude <sys/ socket . h>
#incl ude <netinet/in. h>
#incl ude <ar pal i net . h>
#incl ude <sys/ types. h>

#def i ne SERV_ADDR " 192. 168.0. 2
#def i ne SERV_PORT 7777
«

struct sockaddr_in conn_addr;
int socket_fd

it ((socket_fd = socket (AF_INET, SOOKDGRAM 0)) < 0)
exit(1):

bzer o (char *)&conn_addr,
conn_addr . sin_fam |y = AF_INET;
conn_addr . sin_addr. s_addr = ht onl (1 NADDR_ANY)
conn_addr . sin_port = ht ons( SERV_PORT)

si zeof (struct sockaddr_in))
=g

J* Note: bind is only for UDP server. It will hang on UDP
client */
it (bind(socket_fd, (struct sockaddr *)&conn_addr,

si zeof (struct sockaddr_in)) < 0) exit(1)

recvf ron(socket_fd,
process(.)

sendt o socket_fd, .)
cl ose(socket_id)

)

Application Layer




